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8a (8912) 2 9a (57p)

note: the definitions of »7117777 are different for ANpIV than for naw. naw is ruled by concerns of myny (and
ownership), whereas re: ANDIY, the sole concern is privacy. Since 1V 177731 KOV 27112 ANPIV 790 is derived from the
doubt arising in the case of a 7010, the parameters are unique to NDID.

I. Reassessing statement of 27: if a »1an is fully opened to a 9¥n, which is in turn open to 1”77, the 9¥n is 9IMn; Nan is MoK
a. Challenge (851 73 737): how is this different from 2:0 payyy
i. 2:v pa7ry.if a small 93¥n opens fully into a big one, the big one is 1Mn and MYp is MOR (considered N5THY NNa)
ii. Answer: No public access there
b. Challenge: How is this different from ®naon re: 1xn that is publicly accessed (1”0 for nrmv; »”n7 for Naw — see note)
i. Answer: That is when the entrances/breaches don’t face each other
ii. Note: According to n17 (27's ruling only where they don’t face each other), how are they different?
iii. Answer: RnovIn addresses status as »"n1 re: throwing something in; 27's statement clarifies the an’n to carry there
1. “Centipedal” nan — (Y13 nwyn nan)
a.Solution: put a 9”my at the major entrance; nmp1 N> for the rest;
i. Challenge: must be relying on 5Rnv (re: ;py "an); if so — need 8”my at each entrance
ii. Challenge: even in ®y71TN (YR1MY’s town) they followed 21 (21pY Man is considered wHan)
b. Rather: put a 9”n¥ at each entrance; the other end of each is marked with nmp mb
I »an with different length walls (series of D’nan named X113 involved in this tradition)
a. 37 n¥nn own nnp — if difference <k”1, put np on diagonal; if >k"1, put horizontally at short wall
b. A27 in both cases it must be placed horizontally across — 92’0 mywn nMp (no 12°n if diagonally placed
i. 279’1 11 agrees that if diagonal >10 mnx, must put nMp on shortest wall (not diagonal)
IV.  Carrying under the nmp
a. Permissible: 130y '3 RN "7 11
b. Forbidden: 52w a1 72 pynwv 1 YR
i. Analysis: reason for disagreement
1. Possibility#1: whether n1p is a n¥'nn (prohibited) or “marker” (12°n mWn) < permitted
2. Possibility#2: all agree it is 910 — disagreement if 73°n is from inside or outside
3. Possibility #3: all agree that it is a n¥'nn; disagreement as to which edge (hx’n or 'n13) is boundary
a) n”r all agree that you may not carry between n»nb (functions as n¥'nn —only from inner edge)
c. Spinoff (n”a70f n”9): if he stuck two pegs into the outer wall of the nan and placed nmp against wall
i. Question: would the »an be permitted as a result?
ii. Answer (n™): those who permit (21 et al) would prohibit; those who forbid (Y81 et al) would permit
1.Reason: if outer edge is boundary (27), it is outside of entrance of »an and doesn’t function as nMp
a) But if: inner edge is boundary (YX1nv), it is inside and can function as np
iii. Dissent (¥37): even YRnw would prohibit here — since nMp must be atop »an (not attached on side)
1.Challenge (to »27%): if the N p was n2Wn or MYn away from walls
a) oo if it is within 3 n'nav of walls, no need to bring another nmp
b) 272w if it is within v™7 of walls, no need to bring another nmp
i. Assumption: n21wn is away from »an (challenge to 811) and non is within nan
ii. Correction: both are within; n2vwn — connected on 1 side; n"%n — connected on both
1.Teaching- that we may apply Ta% in two directions at the same time
iii. Or (7wx 77): it is one nMp that is both Pwn and »on; it is hanging higher than the walls
1.And: a few D'nav away on each side
a.Teaching: that we apply both 125 (horizontally) and "01an” simultaneously
i. v1am we regard the “hovering” nmp as being atop the wall
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